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Finish the pictures

©o | oo 000 |

o 0 | 00 @00 | 000
5(=|3|+ 6|=F +

©0 [ o0 000 | 000

@0 | o0 000 T 00O
+ =] |+ + (=] [+

The same... different...

OO0 000
OO0 | O0O0

+

+

]
ADDITION | SEE REASONING — K51



— &

The same... different...

oo o © @ @
20 00 ®®m @w®
L-01=00 ) D+0=0

Which answer?

6+3=9 s0 60+30= | |
1630]

Odd one out
b+4 16+4 60 + 40

ADDITION | SEE REASONING - KS1



The same... different...

5 &
& & ] ]
s T & g T &
& 3 & &
+ = + =
| know... soO...
o 5 28
99 + = 5+3=
7
80 == ==
o 5 25
o8 -+ = 15+3 =
D
a0 == B
draw
& - B
gg + g = ?25+3 =

ADDITION | SEE REASONING — KS1



Spot the difference
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